w

=
o

N

=
o

T

=
(@)

IIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIIILI IIIIIII| IIIIIIII| I

I
-

) d? o/ dy /dp_ (pb/GeV?)
|_\

=

=
<

T

/(2 pip
S

|
o
@

Ratio to PHENIX

200 GeV pp Z (Drell-Yan)

pi (PHENIX Drell-Yan)

T

o~ Herwig++ 2.7.1 defauiltX-.4 ..

..... Aeer Her%jg++ Powhe Z-Té‘qefault R S
N |é:F:|:‘95\N ’_ >2~7‘|$\LH: E—%k::@:::=.$=:::%:::::8

d-7s¥ ¢ ,I;}e’f ®
__EEL Herwig 7.2.1 default EH

Il
-0

Rivet 3.1.10, = 2.6M events

mcplots.cern.ch [arXiv:1306.3436]

N



	Contents
	Page 1


